Biology 111


In-class Exam #4 



November 28, 2016

For each question or statement select the best answer or completion. Mark your selections on a scantron form using a pencil. 

1. In eukaryote cells, a round of cell growth followed by cell division is called ___________________.
a) meiosis
b) the cell cycle 
c) the bicycle
d) binary fission

e) mitosis
2. In eukaryote cells, DNA replication is restricted to _____________________.
a) G1
b) G2 
c) S 
d) mitosis
e) cytokinesis

3. During S the _______________ within the centrosomes in animal cells duplicate.
a) microtubules

b) kinetochores
c) centrioles
d) mitochondria

e) plastids

4. Centromeres consists of two protein clusters called __________________.

a) microtubules

b) kinetochores
c) centrioles
d) mitochondria

e) plastids

5. A replicated chromosome consists of a two DNA molecules called sister ______________.

a) centrosomes
b) kinetochores
c) centrioles
d) chlorophylls

e) chromatids
6. Interphase consists of, in order, _____________________.

a) G1, S, G2

b) G1, G2, S
 c) S, G1,G2
d) G2, G1, S
e) S, G2, G2
7. The four phases of mitosis are, in order, _____________________.

a) prophase, anaphase, metaphase, and telophase

b) anaphase, metaphase, prophase, and telophase

c)    prophase, metaphase, anaphase, and telophase   

d)   prophase, telophase, metaphase, and anaphase

       e)    anaphase, metaphase, telophase, and prophase

8. Chromosomes decondense during __________________________.
a) anaphase
b)  metaphase
c) cytokinesis
d)  prophase 
e) telophase
9. A cell plate forms during ______________________.

a) anaphase
b)  metaphase
c) cytokinesis
d)  prophase 
e) telophase

10. Centromeres move to the equator during ________________________.

a) anaphase
b)  metaphase
c) cytokinesis
d)  prophase 
e) telophase

11. The spindle apparatus forms during ____________________________.

a) anaphase
b)  metaphase
c) cytokinesis
d)  prophase 
e) telophase

12. Chromatids separate during ________________.

a) anaphase
b)  metaphase
c) cytokinesis
d)  prophase 
e) telophase

13. In dividing animal cells, no cell plate forms instead division involves formation of a __________.

a) plastid
b) chromosome

c) centrosome

d) spindle 
e) cell furrow
14. Binary fission refers to cell division as it occurs in _________________ cells.

a) fungi
b)  animal 
c) prokaryotes
d) eukaryotes
e) plant

15. An individual’s __________________ is a chart illustrating, in order, the  shape of each of their chromosomes.

a) telegram 
b) phonogram
c) decagon
d) infogram
e) karyogram  
16. Your cells contain pairs of chromosomes called ____________________ pairs.
a) detritus 
b) elongation
c) homologous
   d) mitochondrial
e) harmony  

17. The non-sex chromosomes are referred to as ___________________.

b
b) centrosomes
c) decasomes
d) mitosomes
e) meiosomes

18. Prophase I of meiosis differs from prophase of mitosis in that______________________.

a) both halves of each centromere connect to the same spindle pole

b) crossing over occurs

c) homologous chromosomes condense together

d) a, b, and c


e) b and c only
19. In anaphase I ________________________________.
a) chromosomes condense

b) chromosome pairs move to the equator 

c) separation of chromatids occurs  
d) separation of homologs occurs
e) individual chromosomes move to the equator

20. In anaphase II _______________________________.

a) chromosomes condense

b) chromosome pairs move to the equator 

c) separation of chromatids occurs  
d) separation of homologs occurs

e) individual chromosomes move to the equator

21. In metaphase I ______________________________.

a) chromosomes condense

b) chromosome pairs move to the equator 

c) separation of chromatids occurs  
d) separation of homologs occurs

e) individual chromosomes move to the equator

22. In metaphase II ______________________________.

a) chromosomes condense

b) chromosome pairs move to the equator 

c) separation of chromatids occurs  
d) separation of homologs occurs

e) individual chromosomes move to the equator

23. At the start of meiosis there is one cell which is _____________.

a) diploid with unreplicated chromosomes

b)   diploid with replicated chromosomes 

c)  both haploid and diploid 


d)    haploid with unreplicated chromosomes 


e)  haploid with replicated chromosomes

24. At the end of meiosis there are four cells which are _____________.

a) diploid with unreplicated chromosomes
b)   diploid with replicated chromosomes 

c) both haploid and diploid 


d)    haploid with unreplicated chromosomes 


e) haploid with replicated chromosomes

25. Mixing of parental alleles in the resulting haploid cells during meiosis is ensured by ___________.

a) replication
b)  crossing over
c) independent assortment
d) a, b, and c
e) b and c only
26. Sexual reproduction occurs in all groups of eukaryotic organisms. It appears to offer a clear advantage over asexual reproduction in that it ____________________________________.

a)  spreads beneficial mutations within populations

b)  prevents disease 

c)  results in bigger offspring



d)  is more rapid than asexual reproduction

e)  increases the likelihood of reproduction

27. Some organisms scattered throughout the different groups of organisms rely primarily (and sometimes exclusively) on asexual reproduction apparently because it offers the advantage of _______________.

a)  spreads beneficial mutations within populations

b)  prevents disease 

c)  results in a bigger offspring



d)  is more rapid than sexual reproduction

e)  increases the likelihood of reproduction

28. In the life cycle of all sexually reproducing eukaryotes, fusion of sperm and egg forms a _________.

a) gamete
b) chromosome
c) centrosome
d) zygote  e) plastid 

29. The most complex type of life cycle occurs in plants. In plants, meiosis produces a haploid cell that grows (and divides) to produce a haploid plant called a ________________________.
a) xenophobe
b) gametophyte
c) sporophyte
d) electrolyte
e) delight 

30. In plants the haploid plants then produce sperm and egg which fuse and grow into a diploid plant called a ___________________.
a) xenophobe
b) gametophyte
c) sporophyte
d) electrolyte
e) delight 

31. The “Father of Modern Genetics” is universally recognized to be __________________.

a) Gregor Mendel
b) Charles Darwin
c) Erwin Chargaff


d) R. C. Punnett

e) Thomas Hunt Morgan
32. A locus is ____________________________.

a) a dominant allele
b) a recessive allele
c) an example of incomplete dominance

d) the site of a gene
e) an example of co-dominance

33. If an individual is homozygous (for a specific gene) both _______ are the same.

a) chromosomes
b) homologs
c) gametes
d) alleles
e) centromeres

34. In self-fertile peas, growing “true-breeding” purple flowered plants will result in ________________

a)  inviable progeny


b) all plants will produce seeds


c) all the seeds will be purple

d)  all the plants produced will have purple flowers

e) all the plants will have purple flowers as will plants grown from their seeds

35. A breeding between two plants (or animals) that differ in a single characteristic is called a _______________ cross. 

a) test

b)   untrue
c)   monohybrid

d)   dihybrid
e)    futile

36. The “Law of Segregation” states that gametes have ____________.

a) one allele of each gene
b) one gene of each allele
 c) one sperm and one egg

d) true-breeding alleles

e) diploid alleles

37. The “Law of Independent Assortment” says in a dihybrid cross the expected ratios of phenotypes among the progeny should be ____________________.
a) 9:3:3:1

b) 3:1

c) 1:1

d) 2:1

e) 5:1

38. Assuming A is dominant over a, in a cross of an Aa and Aa the expected ratios of phenotypes among the progeny should be ____________________.

a) 9:3:3:1

b) 3:1

c) 1:1

d) 2:1

e) 5:1

39. Assuming A is dominant over a, in a cross of an Aa and aa the expected ratios of phenotypes among the progeny should be ____________________.

a) 9:3:3:1

b) 3:1

c) 1:1

d) 2:1

e) 5:1

40. Gene linkage was first demonstrated by ____________________.
a) Gregor Mendel
b) Charles Darwin
c) Erwin Chargaff


d) R. C. Punnett

e) Thomas Hunt Morgan

41. Which blood type is the “universal donor”?

a) A
b) B
c) AB
d) O
e) none of these.
42. One of the early consequences of the industrial revolution was the establishment in England of the _______________________________________.

a) Geological Society

b) Ladies Home Journal

c) Oxford University

d) House of Commons

e) International Date Line

43. In realizing that, in nature, far too many organisms are born than can possibly survive, Charles Darwin was influenced by “An essay on population” written by  ____________________.

a) Gregor Mendel 

b) Charles Lyell

c) Erwin Chargaff

d) Thomas Hunt Morgan
e) Thomas Malthus  

44. Darwin’s explanation for evolution was also influenced by an understanding that the world is very old, something he understood from reading “Principles of Geology” written by __________________.
a) Gregor Mendel 

b) Charles Lyell

c) Erwin Chargaff

d) Thomas Hunt Morgan
e) Thomas Malthus    

45. Before Darwin the best explanation for why evolution occurs was offered by J.B. Lamarck who suggested that the long neck of the giraffe had been acquired though_________________.

a) constant stretching

b) interbreeding with other species
c) a sudden mutation

d) being struck by lightening

e) disease
46. The fossil record shows horses, in evolving from small forest dwelling browsers, acquired ____________ that allowed them to adapt to life on grasslands.

a) thicker tooth enamel 
b) longer legs
c) knee-locks
d) a, b, and c
e) b and c only

47. The development of a new breed of dog through careful selective breeding is an example of ____.

a) analogous structures
b) homologous structures
c) vestigial structures


d) artificial selection

e) natural selection
48. Alexander Fleming discovered ___________________, the first antibiotic.
a) galactosemia
b) glycolysis
c) pterodactyl
d) penicillin
d) vancomycin

49. Mechanisms of antibiotic resistance include ___________________ the antibiotic.

a) chemically degrading 
b) chemically altering
c) altering the target molecule of 


d) a and b but not c

e) a, b, and c

50. An example of convergent evolution is _______________.

a) mammal front and rear legs

b) broccoli and asparagus  

c) European and American bats

d) tulips and tapirs

 

e) bird and insect wings

